Entitlements on an employee’s resignation or termination 

The Employment Relations Act states that an employee is entitled to a payment for annual holidays of 8% of gross earnings during the employment. 

The Act provides two ways to calculate payment for annual holidays on resignation or termination. These are: 

· where the employment ends within 12 months (that is, before the employee is entitled to annual holidays); and 

· where the employment ends after 12 months (that is, where an entitlement to take annual holidays has arisen for the first and any subsequent years' employment) removed “and there is also a period where leave has accrued but the anniversary date giving entitlement to take the leave has not yet occurred. 

Where an employee resigns or is terminated in the first 12 months of service, he or she is entitled to a payment for annual holidays of 8% of gross earnings during the employment. This entitlement is reduced by any payment for annual holidays taken in advance during the employment or by any payment for annual holidays on a pay-as-you-go basis. 

Where an employee resigns or is terminated after becoming entitled to annual holidays, the first amount to be calculated is the greater of ordinary weekly pay or average weekly earnings for the annual holidays that the employee is entitled to under the Act as if the holidays were being taken at the end of the employment. 

If the employee's rate of ordinary weekly pay at the time is not clear, the calculation in the fact-sheet titled “Annual holidays – calculating “ordinary weekly pay” ( available from Department of Labour) and “average weekly earnings” should be used to establish the correct figure. 

The 12 months prior to the end of employment are used to establish average weekly earnings. 

The second amount to be added is for the period since the employee last became entitled to leave and is calculated at 8% of gross earnings since the entitlement arose. 

The payment for any annual holidays taken in advance is deducted from this amount, as is any amount paid on a pay-as-you-go basis. 

Example 1: Calculation of final payment for annual holidays

Moana was employed 1 December 2001 at $15 per hour for a 40-hour week. She worked an extra half day (four hours) of overtime every two weeks, for which she was paid double time (a $120 each fortnight). 

Moana became entitled to annual holidays on 1 December 2002. She took one week's annual holidays beginning on 1 February 2003. It was paid at the rate of $660, since her average weekly earnings during the year before her holiday ($660) was greater than her ordinary weekly pay at the time she took her holiday ($600). 

One of the days of Moana's holiday was a day that she would otherwise have worked four hours' overtime. 

Moana continued to work the same pattern of overtime until she resigned, with her last day being 1 August 2003. 

Her annual-holiday pay on resignation comprised: 

· two weeks' pay at the greater of her ordinary weekly pay or average weekly earnings ($660 x 2 = $1320); plus 

· 8% of her gross earnings for the period since her anniversary date on 1 December 2002. 

The “gross earnings” calculation includes her weekly pay, her two weeks' holiday pay and her overtime earnings. 

Public holidays 

On resignation or termination, the employee's final date of work is notionally extended by any annual holiday entitlements not taken, and any public holidays falling during that period must be dealt with in accordance with the Holidays Act. 

For example, if an employee is to finish work four days before a public holiday and annual holiday entitlement owed on termination equals four days or more, the employee is entitled to a day's payment at the relevant daily pay for the public holiday if it is a day on which she or he would normally have worked. 

Public holidays falling during the notice period (i.e. while the employee is still working) are dealt with in terms of the general provisions of the Act. 

Alternative holidays

If an employee has alternative holidays that accrued from working on a public holiday and that have not yet been taken or paid out, the days are paid on resignation at the same rate as the relevant daily pay for the last day of the employee's work, regardless of the rate of pay at the time they accrued. 

Accrued alternative holidays do not extend the period of employment for the calculation of annual holiday pay. 

Example 2: Calculation of final payment on termination

John resigns and finishes work on Friday 15 October 2004. 

John has been paid up to the proceeding Tuesday, 12 October. He has three days' accrued alternative holidays and is entitled to FOUR weeks' paid annual holidays. He last became entitled to annual holidays on 25 June 2004 

His final payment is made up of: 

· payment for his work since the last pay period – that is, three days' pay for Wednesday, Thursday and Friday 

· payment for his three accrued alternative holidays at the relevant daily pay rate for working on Friday 15 October 

· payment of FOUR weeks' annual holiday pay at the greater of average or ordinary pay
· an additional day's payment for Labour Day (25 October) (at the relevant daily pay), as it falls during the four weeks' notional annual holiday added to the end of his employment 

· an additional 8% of his gross earnings since 25 June 2004 . These gross earnings include: 

· payment for the four weeks annual holidays paid out 

· payment for the alternative holidays 

· payment for the public holiday 

